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xR if he slaughtered 2 owad for 4 loaves (2 too many); pull out two and lift them and the other 2 are redeemed & eaten

a

b

C

d

students (to n”7): must follow w”ar3; to 117, if redeemed inside, nya Pown; if outside — “proper” 2 are invalid as R¥v

i deflection: could be 117, redeemed inside and they become 1510 ipso facto (no violation)

follow up (»wx 275 82237): alternate Rn»12 — redeemed outside, certainly follows w”ary only

observation (?wx “19): this ruling stands against 131n1 "3 who ruled (contra n>prn) that if he designates 80 loaves for nmin:

i prm 40 of the 80 are w1 Tp

ii  ’”r none are VM

rejection: X1 "1 determined that that dispute is only if he didn’t specify “40/80”, in which case all agree that 40 are w1Tp
i here too: he stated that 2 of the 4 loaves are V11

discussion between 8n710 81N "7 and Ny 4

a

v’ if he slaughtered 4 ©»wa> for the 2 loaves, pull out 2, do 1nw5 ®Y® 77171 to allow other 2 to also be brought
i »71. we don’t permit sinning to save a 1279 (N2TNY Y22V ROYM TINY DIMR PR)
1 backup: nron »Mar get mixed with N5y Mar; X" - put all on top (imagine nxrvn 7w1 as fuel); o'nan — all disposed
(a) and: why don’t mnan allow “sinning” (putting nxon 9w on nam) to allow him to offer up n»y
(b) block (v”n7): that is sinning with one offering to save another; in our case, it is all one offering
2 2" challenge: if Max M>W were 1NYY ROW YNW) or before/after 1n1, we do 7171 and it may be eaten
(a) but: if it is on naw, we do not permit (if he did 7”11, meat may be eaten after naw)
(b) block: we don’t permit sinning on naw for %1n (eating later) but we do permit for that same day
3 3" challenge (opposite proving that we do allow &¥vm T19Y for other benefit): barrel of nmn that that breaks at upper
m and lower i has PRnRY PYIN, "1 ®™ agree that whatever he can save n1nva he should; if less than n’»»17 can
be saved:
(a) &7 letit go down and become &nv, as long as he isn’t 172 Xnvn
(b) »7r. let him be ®nvn with his own hands
(c) block: that wine is going to become Xnv in any case — let him save whatever little amount he can

pnY’ 27's ®RNa: if M1y N were slaughtered 1nwY 89, invalid and they are allowed to “rot” and are burnt

a

b

explanation (377): he compares Max 'nYw to nron > PHIOY
but: ®n from "% a2 compares MN2x *NYY to 11T MYV rules — 0IWI
i per: 1 mHw that slaughtered 1nwY RHw, valid (but don’t count for owners)
1 and: are eaten for 1 day and night, no bread is brought nor is the ("5w2) y171 given to 2an>
challenge: if an DWR is to be a yearling and he brought a two-year old or vice-versa, invalid and burnt (nmx 12y)
i but:an yM¥m nTHv 1 nY that is 2-years old are valid
ii  rule: anything which is valid as an na) n%w is valid as an n21n N%Y; anything invalid as nrvn is invalid as DWR
1 except: 1nwY XYW (valid as DWR, not nrYN)
2 inotherwords: we infer N2 M127p from their nam-parallels
3 answer: this follows "% mn
challenge: % taught — y71¥m 711 DR slaughtered 1nWY 8w valid but don’t count,
i but: if slaughtered (n’9y11) yn1 70NN or if they were 2-year-olds, invalid
ii  explanation: should infer (validity) from onow
1 answer: we infer Dn%w from DnYw (for Max MHWY), not DWR from DMLY
2 challenge: if we infer nn>wn oo, infer bwrN DWR and validate “wrong age” from others (e.g. M1 DWYR)
iii  defense: we infer something done improperly (1nv% 85w Dn5w) from another done improperly (naT "mow)
1 but not: something done improperly (e.g. 7’11 DWR that is 2 years old) from something done properly
iv  challenge: we do infer something done improperly from that done properly in allowing &¥v to stay up — from nna
1 answer: that is an expansive 1% from n5wn nn nrr (v. 1)
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IV n"a17 and 21 re: Max 'ndw slaughtered with understanding that they are rams, not lambs
a  n7a7 valid, but don’t count
b 3% valid and count
i n”r we should validate 17’s position if he thought them to be w5’ but intended p>wa> (which is what they are)
1 but not: if he thought them to be rams and intended rams — this is myva nvpy which is npy (errant thought)
2 /27 unintentional nVpY is not an npy (still valid)
ii ~ ~27 we challenge from ruling that 0’03 who are 93an are only liable if they did so T2
1 and: we infer that if they did so w3, they are exempt (for torts) but it is a valid 5wa
(a) cannot mean: that he knew it to be a nron and stated nmbw — that is 7
(b) rather: must be a case where he thought it to be »n%w and stated so = myva npy is an NPy (contra 17)
2 »an: (rejects the “cannot mean” assumption) - he knew it was a nron and intended onow
(a) anw. is that he didn’t know it was 7908 to be DwTpa awnn
iii  challenge (to 27): from w"™’s distinction between n>nat/mnin, allowing mmnn that were 19w X5 1¥nP)
1  reasoning: the process of each is different and that helps determine the intent, unlike n’nar which are the same
2 cannot be a case where: he intended nann but it was a nwnn and he knew that — his intent should invalidate
(a) reason: it is intentional npy and should be invalid
(b) must be: a case where he thought it was nwnin and he was ynpn with that intent
(i) and: were it not for v"’s distinction, it would be invalid = myva nvpy is an nvpy
3 defense: original assumption is wrong; he knew it was nann and intended nwnan
(a) and: to challenge that this should certainly invalidate as it is intentional npy
(b) answer: per X171 — only “unrecognizable” mawnn are invalid; here, the process defines the purpose
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